Chapter 3 | Algebraic Expressions and Properties
Date: 3.4 Ext. Factoring Expressions

Essential How do you use the Diistriwbutive Property to :

Question factor expressions?
G ;f b Vocab Definition
ocab algebraic | Writing a numerical expression or algebraic

expression | expression as a product of factors

Examples

3¢7+3e2=3(7+2) ° ab+ac=a(b+c)




'Factor the Numerical Expression

20-12
Step 1: List the factor pairs of 20 and 12.
1 20 f 1' 12' “
10 ;
@ 5 3 .

Step 2: Circle the GCF.

Step 3: Rewrite the expression using the GCF

| 20 -12 = 4(5) - 4(3) 5

Step 4: Write the expressuon using the Dlstnbutlve
Propery.

4(5 - 3)




Complete problems 1-2 in your composmon book
- Factor 44 - 11 using the GCF.
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4, @ 11(4) - 11(1)
' 11(4 - 1)
2) Factor 70 + 95 using the GCF.
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f Complete numbers 1-2 on your notes page.

1) 100 - 60

2) 48+ 80
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WGCF =202¢5=20
20(5) - 20(3)
20(5 - 3)

GCF 2-2*202 = 16
16(3) +16(5)

16(3 + 5)




Complete problems 3-4 in your composition book.

-4) 50y -60

3) 15x+6

3 5

3(5x) + 3(2)

3(5x + 2)
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10(5y) - 10(6)

10(5y - 6)
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fﬁComplete problems 3-4 on your notes page.
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‘Complete problems 5-6 in your composition book.
5)  Which expression is not equivalent to 16x + 247

a) WZ) e B ) @x+ 6) |

e — ;, “ex+ 24

@) — (2’(@98

6(3x) + 6(4) B (2x)8 + (3)8
18x + 24 s |

. 16x + 24 —




‘Complete problems 5-6 in your composition book.

. Which expression is not equivalent to 32y - 48?7
a) 2(16y -24 b)) 4(8y-12
a) W ) e a

Bl — o A8y)-4(12)
32y -48 b 30y 45

b) 16(2y - 3) —(d)_(Py-8)6
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32y - 48 —
. 12y - 48




Complete problem 5 on your notes page.

5) Which expression is not equivalent to 18x + 24‘7

eI E S ) M o b) (9x +12)2
Se e = - M*(g")z + (12)?,,, -
18x + 24 18x + 24
) 9(2x +3 | d)  2(9x + 12)
B Ny
9(2x) + 9(3) 2(9x) + 2(12)

18x + 27 ‘ u 18x+24




